

SOAP TABLE GUIDE











Trade Price List (Table Offer)

1 Crompton Way, Crawley, West Sussex RH10 9QR

T - +44 (0)1293 525825

E - sales@heylandandwhittle.co.uk

www.heylandandwhittle.co.uk



Contact Name:		Conta	Contact Name:						
Address:			Address:						
Postcode: Telephone:			Postcode:						
			Telephone:						
Email: SINGLE QTY	CODE	Email		PACKED IN	UNIT PRICE	SRP	TOTAL £		
		DESCRIPTION				SRP	TOTALE		
PALM FRE		S" of SOAP (15kg) Available UNC	CUI or CUI in				44.00		
2	9120	Vintage Rose		1	£22.00		44.00		
2	9121	Hemp & Walnut		1	£22.00		44.00		
	9122	Herbal Mint		1	£22.00				
2	9123	English Lavender		1	£22.00		44.00		
2	9124	Gardeners		1	£22.00	£53.00 per	44.00		
2	9125	Patchouli & Goats Milk		1	£22.00	brick £6.00 per Bar	44.00		
	9126	Seaweed		1	£22.00	Dai			
2	9127	Tea Tree & Nettle		1	£22.00		44.00		
2	9128	Citrus & Turmeric		1	£22.00		44.00		
	9129	Charcoal		1	£22.00				
	9130	Shampoo		1	£22.00				
PALM FRE	E HEART	SHAPED SOAP (40g)							
4	86	Vintage Rose	·····	8	£1.30	£3.25	5.20		
4	87	Hemp & Walnut	*****	8	£1.30	£3.25	5.20		
	88	Herbal Mint	**ALSO***	8	£1.30	£3.25			
4	89	<u> </u>	Heart Soaps	8	£1.30	£3.25	5.20		
4	90	Gardeners FRE	E OF CHARGE	8	£1.30	£3.25	5.20		
4	91	Patchouli & Goats Milk (wo	orth £91 SRP)	8	£1.30	£3.25	5.20		
-	92	Seaweed		8	£1.30	£3.25			
4	93	Tea Tree & Nettle		8	£1.30	£3.25	5.20		
	94	Citrus & Turmeric		8	£1.30	£3.25	5.20		
4	95	Charcoal		8	£1.30	£3.25			
		ARS (120g) BOXED in 100% REC	VCI ED CARD	_					
	9120	Vintage Rose Boxed Soap Bar 120g	TCLLD CAND	6	£2.50	£6.00	15.00		
6	9121	Hemp & Walnut Boxed Soap Bar 120g		6	£2.50	£6.00	15.00		
6	9123	English Lavender Boxed Soap Bar 120g		6	£2.50	£6.00	15.00		
6	9125	Patchouli & Goats Milk Boxed Soap Bar 120g)ø	6	£2.50	£6.00	15.00		
6	tbc	Gardeners	o'	6	£2.50	£6.00	15.00		
6	9127	Tea Tree & Nettle Boxed Soap Bar 120g		6	£2.50	£6.00	15.00		
6	9127	Citrus & Turmeric Boxed Soap Bar 120g		6	£2.50	£6.00	15.00		
6			NEGVOLED 645		£2.50	10.00	15.00		
PALM FRE		AVOURS (45g) BOXED in 100% R	RECYCLED CAP		C4 25	62.00	10.00		
8	374	Vintage Rose Mini Favour 45g		8	£1.25	£2.99	10.00		
8	375	Hemp & Walnut Mini Favour 45g		8	£1.25	£2.99	10.00		
8	376	English Lavender Mini Favour 45g		8	£1.25	£2.99	10.00		
8	384	Patchouli & Goats Milk Mini Favour 45g		8	£1.25	£2.99	10.00		
8	tbc	Gardeners		8	£1.25	£2.99	10.00		
8	385	Tea Tree & Nettle Mini Favour 45g		8	£1.25	£2.99	10.00		
8	386	Citrus & Turmeric Mini Favour 45g		8	£1.25	£2.99	10.00		

MISCELLANEOUS						
24	503	Soap Saver - wooden draining board rack	12	£1.60	£3.90	38.40
20	050	Soap Bundles (to fragrance a room) Raffia tied	20	£2.70	£6.50	54.00
12	562	Exfoliating sisal soap bag (130g) including soap	12	£2.80	£6.75	33.60
12	570	Branded wooden nail brush (sisal bristles)	12	£1.66	£3.99	19.92

TOTAL: £665.32

ALL BRANDED BAGS, INGREDIENT LISTINGS, POS supplied FOC

Terms & Conditions

To qualify for the 4ft scaffold board table, supplied and delivered FOC, the above order, (or any configuration of it, to reach £665 before VAT) needs to be met. The table must be used for the sole purpose of displaying and merchandising the Heyland & Whittle brand only. The table remains the property of Heyland & Whittle Ltd. Any subsequent minimum order of £150 before VAT attracts a carriage charge of £15. Any new order placed over £300, before VAT qualifies for carriage paid. First two orders are invoiced on a pro-forma basis, with a 30 day account thereafter. Heyland & Whittle must be informed within 7 days of receiving the goods of any damages-missing items. Should account holders wish to place another order they must ensure their account is clear and has a zero balance. If a balance is outstanding payment must be made before the order will be processed and sent. If account terms are not adhered to we reserve the right to withdraw the thirty day account and re-instate pro-forma payment terms. All goods remain the property of Heyland & Whittle untill full payment has been made. Payment can be made via cheque (payable to Heyland & Whittle Ltd), BACS or Credit/Debit Card.